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4.  Lopez Corp. incurred $420,000 of research costs to develop a product for which a patent
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Which of the following should be reported as a prior period adjustment?
Change in Estimated Lives ~ Change from Unaccepted
of Depreciable Assets Principle to Accepted Principle
a. Yes Yes

b. No Yes
C. Yes No .
d. No No BT
Ryan Distribution Co. has determined its December 31, 2010 inventory on a FIFO basis at
$250,000. Information pertaining to that inventory follows:

Selling price $255,000

Cost to sell . 10,000

Cost to complete : 30,000

Ryan records losses that result from applying the lower-of-cost-or-net realizable value rule. At
December 31, 2010, the loss that Ryan should recognize is

a. $0.

b. $5,000.

c. $25,000.

d. $35,000.

A machine with a five-year estimated useful life and an estimated 10% residual value was
acquired on January 1, 2009. The depreciation expense for 2011 using the double-declining
balance method would be original cost multlphed by

90% x 40% % 40%.

60% x 60% x 40%.

90% x 60% % 40%.

40% x 40%.
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was granted on January 2, 2006. Legal fees and other costs associated with registration of
the patent totaled $80,000. On March 31, 2011, Lopez paid $150,000 for legal fees in a
successful defense of the patent. The total amount capitalized for the patent through March
31, 2011 should be

a. $230,000.

b. $500,000.

c. $570,000.
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d. $650,000.
On January 1, 2010, Sharp Corp. granted an employee an option to purchase 6,000 shares of
Sharp's $5 par value ordinary shares at $20 per share. The Black-Scholes option pricing
model determines total compensation expense to be $140,000. The option became
exercisable on December 31, 2011, after the employee completed two yea:rs of service. The
market prices of Sharp's shares were as follows:

January 1, 2010 $30

December 31,2011 50 : :
For 2011, should recognize compensation expense under the fair value method of
a. $90,000.

b. $30,000.
c. $70,000.
d. $0.

Green Construction Co. has consistently used the percentage-of-completion method of
recognizing revenue. During 2010, Green entered into a fixed-price contract to construct an
office building for $12,000,000. Information relating to the contract is as follows: .

At December 31 -
_ 2010 2011
Percentage of completion 15% 45%
Estimated total cost at completion $9,000,000 $9,600,000
Gross profit recognized (cumulative) 600,000 1,440,000

Contract costs incurred during 2011 were
a. $2,880,000.
b. $2,970,000.
c. $3,150,000.
d. $4,320,000.

On December 31, 2011, Harris Co. leased a machine from Catt, Inc. for a five-year period.
Equal annual payments under the lease are $630,000 (including $30,000 annual executory |
costs) and are due on December 31 of each year. The first payment was made on December
31, 2011, and the second payment was made on December 31, 2012. The five lease
payments are discounted at 10% over the lease term. The present value of minimum lease
payments at the inception of the lease and before the first annual payment was $2,502,000.
The lease is appropriately accounted for as a finance lease by Harris. In its December 31,
2012 statement of financial position, Harris should report a lease liability of

a. $1,902,000.

b. $1,872,000.

c. $1,711,800.

d. $1,492,200.

On January 1, 2011, Frost Corp. changed its inventory method to FIFO from average cost
-for both financial and income tax reporting purposes. The change resulted in an $800,000
increase in the January 1, 2011 inventory. Assume that the income tax rate for all years is
30%. The cumulative effect of the accounting change should be reported by Frost in its 2011
income statement as a $560,000 cumulative effect of accounting change.
retained earnings statement as a $560,000 addition to the beginning balance.
income statement as an $800,000 cumulative effect of accounting change.
retained earnings statement as an $800,000 addition to the beginning balance.
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9.  Stonehaven Co. reported sales on an accrual basis of £109,000. If accounts receivable
increased £31,000, and the allowance for doubtful accounts .increased £10,000 after a
write-off of £3,000, what amount of cash sales does Stonehaven have?

£75,000

£65,000

£85,000.

£91,000.
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10.  On January 2, 2011, Q. Tong Inc. purchased equipment with a cost of HK$10,440,000, a
useful life of 10 years and no salvage value. The company uses straight-line depreciation. At
December 31, 2011 and December 31, 2012, the company determines that impairment
indicators are present. The following information is available for impairment testing at each

year end:

12/31/2011 12/31/2012
Fair value less costs to sell HK$9,315,000 Hk$8,850,000
Value-in-use HK$9,350,000 HK$8,915,000

There is no change in the asset’s useful life or salvage value. The 2012 income statement
will report

a. no Impairment Loss or Recovery of Impairment Loss.

b. Impairment Loss of HK$435,000. s

c. Recovery of Impairment Loss of HK$603,889. =

d. Recovery of Impairment Loss of HK$40,889.
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